
SAP ABAP table /IBS/SRB_ALVKTO_T {RBD: Output Structure RBD Account With Text Field}

_IBS_SRB_ALVKTO_T

MANDANT [CLNT (3)]

RBDID [CHAR (4)]

KTOART [CHAR (10)]

AWAERS [CUKY (5)]

RBSNA [CHAR (12)]

RISKC [NUMC (3)]

MODID [CHAR (10)]

ORGEIN [CHAR (20)]

_IBS_CRB_KTART_P

MANDANT [CLNT (3)]

KTOART [CHAR (10)]

 /IBS/SRB_ALVKTO_T-KTOART = /IBS/CRB_KTART_P-KTOART 
0..N

1

_IBS_CRB_MODID_P

MANDANT [CLNT (3)]

MODID [CHAR (10)]

 /IBS/SRB_ALVKTO_T-MODID = /IBS/CRB_MODID_P-MODID 
0..N

1

_IBS_CRB_ORGEIN

MANDANT [CLNT (3)]

ORGEIN [CHAR (20)]
 /IBS/SRB_ALVKTO_T-ORGEIN = /IBS/CRB_ORGEIN-ORGEIN 

0..N

1

_IBS_CRB_RBDSB

MANDANT [CLNT (3)]

RBSNA [CHAR (12)]

 /IBS/SRB_ALVKTO_T-RBSNA = /IBS/CRB_RBDSB-RBSNA 
0..N

1

_IBS_CRB_RBD_P

MANDANT [CLNT (3)]

RBDID [CHAR (4)]

 /IBS/SRB_ALVKTO_T-RBDID = /IBS/CRB_RBD_P-RBDID 

0..N

1

_IBS_CRB_RKL_P

MANDANT [CLNT (3)]

RISKC [NUMC (3)]

 /IBS/SRB_ALVKTO_T-RISKC = /IBS/CRB_RKL_P-RISKC 

0..N

1

T000

MANDT [CLNT (3)]

 /IBS/SRB_ALVKTO_T-MANDANT = T000-MANDT 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 /IBS/SRB_ALVKTO_T-AWAERS = TCURC-WAERS 

0..N

1


